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Section : Arithmetic Ability
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Q.1 Choose the correct preposition.

Question ID : 162653278

China, America produces the maximum quantity of paper.

Ans X 1. Below
v 2 Besides
/< 3. Belowed

X 4. Beside

Q2 WWhich sentence makes the most sense?

Ans #”1,

Question ID : 162653267

No sooner had I arrived at the airport than the plane landed.

X2




No sooner had I arrived at the airport than the train had landed.

X 3

No sooner I arrived at the airport than the train came.

F

No sooner had I arrived at the airport the train came.

Q.3

Ans

The company is trying  new talent.
#< 1. to spotting

X 2. spotting

/< 3. spot

+ 4 to spot
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Q.4

Ans

Provide the appropriate conjunction.

He not only plays the piano  the violin.
# 1 and
v 2. but also
< 3. despite
< 4 but
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Q.5

Provide the appropriate ANTONYM for the underlined word.

He believes in transparent communication.

Question ID : 162653276

Ans X 1. Mystic
< 2 Doubtful
& 3. Candid
v 4 Opaque
Q.6

Ans

Provide the appropriate synonym for the underlined word.

She would be taciturn whenever she met the teacher.
#< 1 Terse
' 2. Unresponsive
/< 3. Confident
< 4 Tense
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Q.7

Ans

My friend  his keys. He doesn’t have them with him now.
& 1. Jost
# 2. has been lost
3. had lost
v 4. has lost
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Provide the appropriate synonym for the underlined word. l

Question ID : 162653273

The doctor seemed eccentric.
Ans  of 1. Abnormal

/< 2. Dapper

/< 3. Short-tempered

4 Bullish

Q.9 Provide the appropriate ANTONYM for the underlined word.

Question ID : 162653275

My parents are contemplating immigration to Canada.
Ans X 1. Contaminating
« 2. Rejecting
/< 3. Feeling

< 4. Discovering

Q.10 Choose the correct preposition.

Question ID : 162653277

The loss due to the Kerala floodsis ¥ 19,000 crores.
Ans X" 1. across

< 2. beneath

v = around

#< 4 underneath

Q.11 Choose the sentence in Reported Speech.

Question ID : 162653270

“The kids are longing to meet their cousins”, the parents said.

Ans X1,

The parents said that the kids longed to meet their cousins.

X2

The parents said that the kids are longing to meet their cousins.

v &

The parents said that the kids were longing to meet their cousins.

54

The parents said that the kids were longing to meeting their cousins.

Q12 Which of the following options is a complete sentence?

Question ID : 162653265

Ans X 1. The isles under the sun.
' 2 Corruption is a menace.

#< 3. Once in a blue moon.
#< 4. Kith and kin.

Q.13

Question ID : 162653266




Choose a suitable clause to complete the sentence.

The world is becoming a global village:

Ans X1_

despite there are some who bring about divisions.

K2

therefore, there are some who bring about divisions.

< 3. so are some who bring about divisions.

v 2

vet, there are some who bring about divisions.

Q.14 Arrange the following sentences in a meaningful and grammatically correct order.

A. Now it seems to be the smartphone.
B. More and more children are becoming obese nowadays.
C. They manage to snatch it from parents to pass their time.

D. Some years back, the cause for obesity. according to researchers, was the television.

E. Then it starts controlling these smartphone addicts.

Ans X 1. CDABC
X< 2 BACDE
< 3. ACDBE
v 4 BDACE

Question ID : 162653274

Q15 provide the appropriate question tag.

He must mend his ways,

Ans 1. must he?
&< 2 won’t he?
< 3. doesn’t he?
v % mustn’t he?

Question ID : 162653271

Comprehension:




Read the following passage and answer the questions that follow.

On the afternoon of her fortieth birthday, I called a friend to wish her
well. I asked about her plans for the rest of the day and learned that a
celebration had already taken place. In the morning, my friend. her two
sisters and her husband had risen high into the Kentucky sky in a hot-air
balloon. “What was it like?” I asked. “Well, I don’t know if I can explain
it,”” she said. “I was so focused on the moment, when it was actually
happening.”

What I learned from my friend that morning is that sometimes. to be in
the moment, you must surrender to it completely. That’s not to say you
won’t remember it later, though you may forfeit the chance to put the
moment into words. And although I couldn’t say exactly what my pal
experienced that morning, I heard the thrill and awe in her voice.

To truly be present, one must live inside the moment and experience it
for its own sake. If you live outside the moment — observing and
explaining — you’re no longer absorbing and feeling. The moment
breaks apart and eventually disappears. Think of a movie. Sometimes it’s
impossible to explain what you've seen. On another level, though, one
you can't necessarily pinpoint. you know that once you begin dissecting
your experience, you take away from it as well.

SubQuestion No : 16

Q1 - .
. Forfeit means to . Question ID : 162653282

Ans of 1. lose out
X 2. gain
< 3. pick up
/X 4. group

Comprehension:




Read the following passage and answer the questions that follow.

On the afternoon of her fortieth birthday, I called a friend to wish her
well. I asked about her plans for the rest of the day and learned that a
celebration had already taken place. In the morning, my friend. her two
sisters and her husband had risen high into the Kentucky sky in a hot-air
balloon. “What was it like?” I asked. “Well, I don’t know if I can explain
it,”” she said. “I was so focused on the moment, when it was actually
happening.”

What I learned from my friend that morning is that sometimes. to be in
the moment, you must surrender to it completely. That’s not to say you
won’t remember it later, though you may forfeit the chance to put the
moment into words. And although I couldn’t say exactly what my pal
experienced that morning, I heard the thrill and awe in her voice.

To truly be present, one must live inside the moment and experience it
for its own sake. If you live outside the moment — observing and
explaining — you’re no longer absorbing and feeling. The moment
breaks apart and eventually disappears. Think of a movie. Sometimes it’s
impossible to explain what you've seen. On another level, though, one
you can't necessarily pinpoint. you know that once you begin dissecting
your experience, you take away from it as well.

SubQuestion No : 17

.1 3 E) - H
°7 Why gouldn t the agthror s friend explain about the Question ID : 162653281
experience on her birthday?

Ans X 1. She was focused on flying.

# 2. She was in the hot-air balloon.
« 3. She was focused in the moment.

7< 4. She was too busy focusing on her friends.

Comprehension:




Read the following passage and answer the questions that follow.

On the afternoon of her fortieth birthday, I called a friend to wish her
well. I asked about her plans for the rest of the day and learned that a
celebration had already taken place. In the morning, my friend. her two
sisters and her husband had risen high into the Kentucky sky in a hot-air
balloon. “What was it like?” I asked. “Well, I don’t know if I can explain
it,”” she said. “I was so focused on the moment, when it was actually
happening.”

What I learned from my friend that morning is that sometimes. to be in
the moment, you must surrender to it completely. That’s not to say you
won’t remember it later, though you may forfeit the chance to put the
moment into words. And although I couldn’t say exactly what my pal
experienced that morning, I heard the thrill and awe in her voice.

To truly be present, one must live inside the moment and experience it
for its own sake. If you live outside the moment — observing and
explaining — you’re no longer absorbing and feeling. The moment
breaks apart and eventually disappears. Think of a movie. Sometimes it’s
impossible to explain what you've seen. On another level, though, one
you can't necessarily pinpoint. you know that once you begin dissecting
your experience, you take away from it as well.

SubQuestion No : 18

Q.1 0 o s
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Ans X 1. gection
X 2 find
#< 3. function
W 4 analyze

Comprehension:




Q.1
9

Ans

Read the following passage and answer the questions that follow.

On the afternoon of her fortieth birthday, I called a friend to wish her
well. I asked about her plans for the rest of the day and learned that a
celebration had already taken place. In the morning, my friend. her two
sisters and her husband had risen high into the Kentucky sky in a hot-air
balloon. “What was it like?” I asked. “Well, I don’t know if I can explain
it,”” she said. “I was so focused on the moment, when it was actually
happening.”

What I learned from my friend that morning is that sometimes. to be in
the moment, you must surrender to it completely. That’s not to say you
won’t remember it later, though you may forfeit the chance to put the
moment into words. And although I couldn’t say exactly what my pal
experienced that morning, I heard the thrill and awe in her voice.

To truly be present, one must live inside the moment and experience it
for its own sake. If you live outside the moment — observing and
explaining — you’re no longer absorbing and feeling. The moment
breaks apart and eventually disappears. Think of a movie. Sometimes it’s
impossible to explain what you've seen. On another level, though, one
you can't necessarily pinpoint. you know that once you begin dissecting
your experience, you take away from it as well.

SubQuestion No : 19

In the case of a movie, sometimes it is what
you've seen.

Question ID : 162653284

v 1. impossible to explain
< 2. possible to replicate
#< 3. possible to explain

< 4. impossible to write

Comprehension:




Read the following passage and answer the questions that follow.

On the afternoon of her fortieth birthday, I called a friend to wish her
well. I asked about her plans for the rest of the day and learned that a
celebration had already taken place. In the morning, my friend. her two
sisters and her husband had risen high into the Kentucky sky in a hot-air
balloon. “What was it like?” I asked. “Well, I don’t know if I can explain
it,”” she said. “I was so focused on the moment, when it was actually
happening.”

What I learned from my friend that morning is that sometimes. to be in
the moment, you must surrender to it completely. That’s not to say you
won’t remember it later, though you may forfeit the chance to put the
moment into words. And although I couldn’t say exactly what my pal
experienced that morning, I heard the thrill and awe in her voice.

To truly be present, one must live inside the moment and experience it
for its own sake. If you live outside the moment — observing and
explaining — you’re no longer absorbing and feeling. The moment
breaks apart and eventually disappears. Think of a movie. Sometimes it’s
impossible to explain what you've seen. On another level, though, one
you can't necessarily pinpoint. you know that once you begin dissecting
your experience, you take away from it as well.

SubQuestion No : 20

0'2 " L . .
o Which of the following statements is true according Question ID : 162653283
to the passage?

Ans ?(" 1.
To truly be present. one must live inside the moment
and experience it for others’ sake.

X 2 To truly be present, one must live outside the
- moment and experience it for others’ sake.

&3
To truly be present. one must live inside the moment
and experience it for his/her own sake.

X 4
To truly be present. one must live inside the moment
and experience it.

Comprehension:
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7. 9T 9O ST & et o 9ger dees e sk faS
1945 3 eI g3 3R el & For 1948 §. #| gfadr S
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SubQuestion No : 1

e sy o & Jw ey = 7 g Question ID : 162653289
e X wmE B o

v o g g a9

X3 il o o o

Ko ga o T O

Comprehension:

A fodr 71T STEETer # gge ¥ T WAl & 3eak ST

T. g 9AE glader & AUl # 9gen deed 9uR 3R Fas
1945 & eI garm 3R arelier & Gor 1948 3. #| gfdr S
e Fr Tmar FE=eR SRA # o e @) g e
3eeie SR R # IR anl eFEdr o % o ey Rl
¥ Ige AT O T ¥ Fegie Wy F@er # 39S owE §
ToaTcHE Oifgca A Fife & afEwesT g1 o 3= ey
HAd: #R & WEFiaeh Siagrd I Jaasl & 21 3M0F &
T IR FATATS AT FHgl ST Fohl g
SubQuestion No : 2

a2 s s F ey s & g =g & Question ID : 162653290
TACHAT FLT &7

Are K1 e
< 2 enfier
<3 i




v o FTERTaS
Comprehension:

A & 71T Tgarer #F 9ge ¥ T WAl & 3ea} ST

7. 9T 9OE T & fAEut o 9ger dees e sk fas
1945 3 gemTRIT g3 3R el & For 1948 §. #| Ifdr S
ferelt & T TSR SR 7 o A )@ Rg e
gl TTaTERy 3T 7 gy ) gfadr S s ey =
H Jgo gl o T & @i ey e # 39S owa d
ToaTcHE Oifgca A Fife & afEwesT g1 o 3= ey
HAd: #R & WEFiaeh Siagrd I Jaasl & 21 3M0F &
ol 3! TS ey gl S Hehall gl

SubQuestion No : 3

@3 9IS ladar & [aedl T TIgel Heholel Question ID : 162653287

g:

A o e el BEE
X 2 32MF & Bl
X o Fe

X g% 3k RAes
Comprehension:

A fodr 71T STEETer # gge ¥ T WAl & 3eak ST

7. g 9AE gfaEer F fAeul # ggen dwed TR ik e
1945 & eI garm 3R arelier & Gor 1948 3. #| gfdr S
e Fr Tmar FE=eR SRA # o e @) g e
e oI gt # g e efaadr S ¢ J9 ey =
H Ugel el o 91T | 3eai ey fer #7397 awT ¥
H=dTcHs Hiiged T Fife H 9Ew=ET 547 @am 3935 Fey
HAAd: #Rd & WP Siaerd H Jaiasl Hid 21 320F &
B 3l Tl (e gl = Fehell &

SubQuestion No : 4

¥ e ¥ A =T Fehrued Iv g Question ID : 162653288
Ans X 11984 €




X 2 1945 3.
v'3.1948 &
X 4 1954 S

Comprehension:

A & 71T Tgarer #F 9ge ¥ T WAl & 3ea} ST

7. g9NT 9O ST & et o 9ger deea e ik Tes
1945 3 eI garm 3R el & For 1948 3. #| I S
et $r T FEseR Ra # off Fa W) g e
I SIITEET e & g T e adr S ¥ S Tew =
H Uge F7gT oy T ¥ 3g ey Fwr #F 39a vmE
ToaTcHE Oifgca A Fife & afEwesT g1 o 3= ey
HAd: #R & WEFiaeh Siagrd I Jaasl & 21 3M0F &
ol 3! TS ey gl S Hehall gl

SubQuestion No : 5

s ey S Fr wfafafer Fey Fa war = Question ID : 162653291

Hehell 87
SARVARE' S o o

X 2 9T FEpfa & &

X5 a3k fTEs

X 4 FEA

e =TT § § T o1 o= 2o %"’ Question ID : 162653294

e o sy
X 2 HERT
<3 AT

< 4 FHETAT

V7 raRT A aSr frefe @ YL A i A g7 Question ID : 162653306

A o1 gireT
X 2 gfgem
X 3 gig=or
< 4 gdreoT

Q.8 [




Ans

Question ID

1162653297

Q.9

Ans

afeger J 9T &
v g
K2d
X3 e
X4 R

Question ID

1162653301

Q.10

Ans

S TS T 99T 7 79 TF & 00 UF e gE
<1 amer
W 2 e
/< 3. qrdTer
<4 TER

Question ID

1162653304

Q.11

Ans

@ & & &l @7 o 957 &2
XA
X2 o3
v 3 ey
X“'Ei'ET

Question ID

1162653293

Q.12

Ans

AT # & #i9 @1 aeg =hferr 272
X . gwe
<2 gFa
X Feper
Tl

Question ID

1162653299

Q.13

Ans

‘Tt # FA T AT 27
X1 e

Xz.ak—.jag

v 3 e

X« oy

Question ID

1162653298

Q.14

feafof@a & = T v @1 82

Question ID

1162653305




Ans

X 1. g 7T IIST B
v 3HH TAS H FT T H|

X 3 T o T@ET HiT ST Tehel

X4.3TH$IWWE‘%HW§3—'ITF

Q.15

Ans

egar &g 9 Fr =T 87
X fegaEs
< 2 gereiErEes

Vv gEEES
< 4 FfaEre

Question ID : 162653295

Q.16

Ans

‘HI&IOT H ITHT &
vioEH
&< 2. gyoT
X3 A
Xae ¥

Question ID : 162653300

VY Safaaa § ¥ Fi9 OT e8I FT ISIETE A8 §7

Ans

< e
v e
< 3 e
X 4 R

Question ID : 162653302

Q.18

Ans

SfE @ et @
X

v Sy

X Bftw

X+ B

Question ID : 162653303

Q.19

Ans

war e 9eR & e 272
o 1. FUTET=R

X 2 qiyATT Steres

X o e

X4 gEmETEs

Question ID : 162653296

Q.20

fa=faflT & & 7 71 o9 T=mF7 &7

Question ID : 162653292




Ans x1_ Eﬂw
A2 afaa
X 3 e

Voo

Section : Subject Related

Q1 e U aEd § Tead e i EeeRwar afEd @ B Question ID : 162653324
Ans K1 st

X 2 gzota

X 3 zorEme A&t

Q.2 doEcHF e vE 9T § S Sfe aRgeaar it gdieRer & @ @eTeEr @ @ ¥ g8 e
Twer e e om? Question ID : 162653307

Ans X1 gEnERY
X 2 gaTT grEerg
<3 drum. TR
v e R

¥ R goTeh  HFER RET w4 32 Question ID + 162653309

Ans X AreTfYear #r arsemer
X 2 SRTEFT 3T T T areT
v &3
T & @I H§ AFIT AT T JHEreyor
X4 AT

Q.4 e X wmt AR il F1 Rl & w7 & @ oet & s F 3fe war ) s e ow
S T 7 Question ID : 162653322

e Nt waTear
< 2 NP gearg
<3 gl @
X 4 Hf¥aw T

Q'5 - - . - . L. .
Which of the following is Intrinsic motivation? Question ID : 162653318

Ans

« 1. Students learn for personal satisfaction.

/< 2. It means negative reinforcement.

&< 3




Teacher gives awards/rewards to strength learning.

/< 4 It means positive reinforcement.

Q.6

AT T Hdolg F4T el 27
Ars X . graar A FET
K 2 7ot feT

o ST FT HIAEOT AT g
X o T@T 3R gfAar A srEaT A

Question ID : 162653310

Q.7 gremma e AR guR & ToiT areTm SEEs $ O ST a2 §7

Ans ‘!f 1
F==1 F O Treuss gAReRh d#R ards s e

< 2

Tedl H TGATEAR & WY T g & RARTa Fr
< 3 fareTes SHiEg forem

X 4

g==T & HTHTTSRFIT U eI Higd FAT

Question ID : 162653311

8 roATeH® TewIvT T AT YEeaT & YT AT §7
Ans X zenERY

<2 Ry

v R

X 4. EIIF-‘I'E"'IEEI'TU

Question ID : 162653316

Q.9 e Fww ST 37 § 5 O # TEUTERR ¥ SET 3T SIRCI S A ST 3
e X o A8 @ T B

X 2 BT FT AT 991 & W@ ¢l

X 2 BT EAIEH W T A9 o 2

v . Rretes w3

Question ID : 162653320

V10 frorz o (e & frT ge=n) &1 #dew #2137
e XK1 cagR AvEfeE

X 2 T B9 T AT 8

X 3. srferepreqoT Rafor

Vi T § W

Question ID : 162653323




M gy P F R AERRe s s o e Question ID : 162653315

Ans ?{’1
FET F ITATEI0T T I ET 9T FIe IHT Fal

X 2. R¥ET0T B 3cgear ¥ TS

v Fm o 9w % AT aar &
<4 uE feT-Fieg FeT H

.12 &
O e W & O 9@ TaT (@) F4 E? Question ID : 162653314

s XK. iR, sTaeTeRw AR smemfeRs
v 2 oriifte, TAECHES R AR
X 3. TAACHS, ASAHF 31T @A+
X 4 OATATCHSF, Teaions T aaarcHs

Q.13 o= -
fenely JreaTar et # e ganT Tee FT Fehell &7 Question ID : 162653321

MK AT e T WA
X 2 FHEAAT FT HEOTH
v gzt F ST
K 4
orEr = B i ot F oy e 7 o

Q.14 frefor #F Srowe-aTE (RTeET 3mafE) s AT TR affe s T F 3w BT B

Ars X 1. TIATeR @ Y T A8 gy

Question ID : 162653325

v
S P SENERT 3R GO F UL 71T §
X 2 eHagR Fael e # go @ §

F
Wer-ER T A St e F sEac ar ¥

Q15 Sy R % AR v Ry T O T= F A F4;w 2

Question ID : 162653313

e S Rer F wew
< 2. FeTH 8T
<2 AftET ik e
X o TEAT THT AT TH Solep T

16 : : :
Q16 ey = R g W forg AR H 3erer &2 Question ID : 162653326

Ans




X 1. g gy Renfiat & gsfoa &

X2

Ig SFFET a7 3 sugEr ErEe 9T oI 4T
X 3

g =OaER, FEuReTa, fewt, anfe fr g st SRtear # #Fw gy & owwae wean §

v . gg freTor F s e 9T FRT B

V7 qforufaE e F Tt F ¥ o w2
Ans 1. TEaT

V2 e ¥ AregE B @

<3 e F drEer

X4 gg FAT F drEaT

Question ID : 162653308

Q.18 ‘o @R & & FaT wid § A R aRomE o=t e & BT v Fe & w9 F v wy A
¥ — 7% e o seo 7

e o e TfEeT
X 2 ZOggRarer Tieespor
X 3 geAeTeHe Raror TieewT
< 4 RreTe-f T T

Question ID : 162653319

Q19 Pyt ST e oY Y F wwy B AR G L2
VL A T T

A2 AHT framet

A5 drge & gfa i gfafEaeie

A4 RreTeRt oX AR

Question ID : 162653312

02w ReeT T

‘o Rietor & W& 1 Jefeasa Ageaqer g1
Ans X1,

Fo O e F e Ra Fwar g

v 2 BET FT AT T T U ST 2

X o Rt v & T W TF £

r
FeT FHAAI TET $r FES &7 3T FFhar g1

Question ID : 162653317




Q.1

Ans

qrsusH fEeE Far 82

< gl R

X 2 397 F qfEaT

v 5 TS, FEaTA AR Hedied

X 4 GTSTHA AR FeTIF A A o

Question ID : 162653344

Q.2

Ans

T=eRa § ¥ FiF o Fua Bem F 3mmdrdn (ICT) & 9ae 872
X . FeTT H et F AT FF FH FAT §
f;:ﬁéaﬁvaqﬁﬁa?rmmm%
ﬁ%ﬁmﬁmﬁmaﬁmm%
ga‘:?rmgmﬁraﬁmﬂ?rm%

Question ID : 162653346

Q.3

Ans

TH.EUA. (SEN) &7 Fa7 37 87
Ko
Hrerer Qﬂﬂ—?&lﬁ TdeE (Societal Educational Standards)

v 2
TIA ThelA #A1SH (Special Educational Needs)

X 3
WIS TSl #5H (Social Education Needs)

X 4
ArETECe TFHSlAT AEH (Societal Exceptional Needs)

Question ID : 162653337

Q.4

Ans

et off o & weTwa A * o FgcaTer g 4 82
<. graEfSe e

X 2 T 1 AreaH

v 5 gaETe B T

<4 faaor & TR

Question ID : 162653342

Q.5

Ans

‘FE F TR T EF Fg 7 S § A T Breror fwiw # sepeear @ wH §, o B
ReTor 7 THIT T ¢ e v gt gfea ¥ o e fewes saw der fe oo

v e
< 2 B
A5 ardy weEdr
X 4 TSR

Question ID : 162653328




Q.6 waE Fam F TR ¥ S vF et F TE-Rwr w1 owew s9gEs ale #iE @ 39T S
ofge?

A X1 Feer memEr R
v gEER R

X o e Rwmor R
X 4 e

Question ID : 162653339

recommends that the institutions of national importance like UGC. NCERT. NIEPA, AICTE. etc. will be
strengthened to enable them to give shape to national system of education.

Ans 1. Kothari Commission (1964-66)

< 2. National Curriculum Framework
#< 3. The National System of Education

« 2 National Policy on Education (1986)

Q.7

Question ID : 162653329

08 ‘Who was the chairperson of the National Steering Committee of National Curriculum Framework, 20057

Ans  of 1. Prof. Yash Pal
# 2. Shri Gopal Guru

#< 3. Dr. DS Kothari
< 4 Prof. Krishna Kant

Question ID : 162653334

Q.9 s A= TiER, T AR TeEla # ghoa e st Akt & T TS Fr E

A XK1 eaTT, EretEar 3R e
v &)

opfaw i aAfes gEEe & RS w F v T gaftes s
K 3 RT-gus AR

X 4
ot A HFRT F AFER F F v gEe it

Question ID : 162653336

Q.‘I (Q Establishment of continuing education centres, programmes of distance learning and workers® education through the
employers are the programmes included in

Ans o 1. Adult Education and Continuing education

/< 2 Distance education
# 3. Vocational education
/< 4 National Literacy Mission

Question ID : 162653330

0_1 q Which of the following is known as the structure and content of a unit, a programme of study and students’ experience

e Question ID : 162653341
Ans o 1. Curriculum

#< 2. Syllabus

< 3. Objectives

#< 4 Course
Q.12

Question ID : 162653327




s T T el amEeTs e A e o ¥ Sew Rffint & oy e e & v sl
HET # g B, O 30F U o) ST % WIEST ST 931 & O Ue @ & nfder & 3 sy
oo ¢ & 3R &3 @ o # 5T W E T

RveTe 1 FAT FaT o7

Ans 1. HTcH FFATH
+

X 2 fretor F TR

v 5 e g ahierer

X+ grEAT A
Q.1 3 The concept may accommodate the UNESCO’s global Education for All (EFA) and educational opportunities

goals while the online learning mode and technologies may address the 21st century learning. QUeStiOn ID 162653331

Ans

& 1. Distance education

#< 2. Correspondence education
#< 3. Open University

« 4 Open and distance learning

W E WA (ICT) ¥ T T 2

Ans

X 1. faTeH giveaaT, e fAweH

X2

v 2 ZEESTY, W¥CAIT, 3YTTRAT, A
X 4 FEOEY, $eIE, TA.ALEL gl

Question ID : 162653345

Q.15 CBSE. omgfea @we (2018), Toear TR Do 3 FEaadl Ty Ao 8Ra & ¥ T

Ans

e §

X S e
v 2 grer fRveT

X 3 gtz e

< 4 Ffgem wurfdassoT

Question ID : 162653332

Q.16 Fr=faf@a & ¥ Fi7 @ Rwg (95 3nafid TaFa F1 3eRoT ¥

Ans

Ko
-dAferer RrenfEiat W Fgae afiwew & fov wewE ger TRe
v
ot F Sea/EEdt F @9 F F7gg W A &

X 3.
FgmEa 7 WEe 3R S wE F e A & afer & aiwas

K 4. SIS THEAT AT INEIT & /Y g

Question ID : 162653343

Y o & T T BT w7 oad

Ans

v

Question ID : 162653335




AT F FTATAS-AEp e AT FAATETRT FEATA
A2 gr egfFaar & &= AT

< 3
I 3T oF F FROT FRT F 3EAEAT

X o gEE & d= Beaar

@1 maraeh Ram & T # At it e w2

i. A FeHel JUT

ii. TEgeET FT FAT

iii. A d# IRE TsT e
iv. AH T P o FE

39gFT 3eal H AT B
s K Fae v

<2 i #T i

<k

vl 3R i

Question ID : 162653340

Q19 wedig (NPE) & 3@ RUam & R 3R o mgeaqur sifde &
e K seEEeT

<2 g |erdr e
<3 g R

v o i siffer

Question ID : 162653333

Q.20 maretr fram ¥ et ¥ Test & ewfafew F ¢ 99 o 77 g AT &2

i X g A T B
X 2 g7 By B frew @ sfPew B
v ¢ grRE TiecemT T saEEr = g
X4 FET HaT g B

Question ID : 162653338

Section : Subject Related

*! NCF-2005 & 37[@R, F==i/a=s:

Ans “V1_
H UF HeSdT (IH W) AW g8 I T oTH AT 2T &

Question ID : 162653358




X2 of@y & drEw §
X3 it & gy ¥
< 4 1 fafee Trar smer =nfge

Q.2

Ans

Prfafea & ¥ S T JTieT & 3T & 7 F T T 2
X 1. QregTgel FT U FIAT

XA 2 g 9T ¥ 9&T

V'3 FET redr T 9 Al H AT
X4 Fua b alERg wTar

Question ID : 162653357

Q.3

Ans

AT ST FT FTT FEAT — FH FUA F B oW P G Ry I
v Fherer

K 2. HFTFIIET

X 3. THAH

X 4 zfSemproT

Question ID : 162653365

Q.4
Ans

zleror amr drEe ¥ et i 3R wew o & weTeR 9T SR & B

v AT
<2 FrTcHF

K 3. 9cgeT

X 4 sifrsmers Ry

Question ID : 162653362

Q.5

Ans

v faretor % T TR
X2 ot 7 S
< 3 gt @
X 4 JgaT 3HF 9o FIAT

Question ID : 162653354

Q.6
Ans

Which of the following assessment techniques can be used with the help of technology?

#< 1. Tutorial in the presence of the teacher

X2

Peer observation while experimenting in science lab
« 3. Discussion, debate. symposia and role play
< 4. Journal writing

Question ID : 162653350

Q.7

Ans

$TSUT T HITESHR OTF Z@RT FE A o Far § Ak ST st har o wifgel 5w R
f31eTeR W FT g7 TET?

X 1. ZTERTeT F RTET & AEER

Question ID : 162653360




v 2 =TT HTuT

X 3 gredt & AT F YA FT FAETER
X 4 ar=oT Age

Q.8

Ans

The computer-assisted learning idea highly depends on:

v . Kothari Commission
< 2. Vishwanathan Commission

#< 3. University Grants Commission

# 4. Knowledge Commission

Question ID : 162653348

Q.9

Ans

T=faea & o FiF a1 $-RPeor #r 3eer 8272
Ko
ZIEY ST F AR FT 3T H3h ofF AR RN’ [ A &

X2
OTF 3eTTT F v @ deafdeT & 39aeT a3 2
X 3
fRrete aafis =@k UZ did HYUT & IYANRT 1 2
v 2
Rt ot FT w9 = AR a1 F BT e aiwTT &

Question ID : 162653349

Q.10

Ans

FTIRIST T ITANT FIT 272
X 1. TS TH T T

X2
MO 9 8§ & i JFHr T 39IET AT

v o sifge F9aT #T gEdeT & T
X4 B F F1H Y HTAST qgear

Question ID : 162653347

Q.11

Ans

Hfa fve (¥fwam o Fged W) @ o & BT o sawu &9 @
K1 3g == 9ge UU FLAT
<2

freTr #T Y 915 F WY T TS F GHET FE BT FIAT FEAT AEC
Vs
3R §H W A1 & Y A¢ A F A g
r

T T FE et o F TEe AN wEge f AR arigw R Ged 5% afee ar wea
It Fr T AT e

Question ID : 162653366

Q.12

Ans

Tewar e 3t et fer F &= a7 3w 22

v
e T FES-IEs ¥ HR gEaeh R siFes

Question ID : 162653351




X 2

TEFr e F BT &7 F werat F et it smaemewar g T 3T mEaet few F fw dm F
TETA F FERT B IETFHAT ger B

X 3
TEFrr BT F o Ruws 3 geaeh dwe S S SR Fr smeegsar @ g
X 4
Tewt e 7 93 wag ¥ 3k weaeh Rew & o wg

Q.‘I 3 A most common scenario in schools is children not being able to read. As a teacher. how will you promote reading in
your students?

Ans 1. Peer reading

< 2. Telling them to visit library
v &

Reading to the students with appropriate gestures, dramatization etc.

#< 4. Telling them to read at home

Question ID : 162653363

Q.14 == 1813 # fafewr s 2w, & Wufae Reged # 3o a@v 4% &7 7% R’ F1 Aregs Fr ar?
Ans xl hﬁ a

X2 sk

X R

v 4 g e

Question ID : 162653359

*"° EDUSAT et 31 &7 & 3397 T &7

Ans X1_
YeifOrer FrwAT F1 3TAT 0 Rarwl F @HAT F g AT

X2
Teroileh T FET 297 ¥ ITUNET T & fore fErefer &1 9ffEa =

¥ &}

Tl Al R T A F BT, WEET G F -0 F A F a=T T TS A Fo g
T &

K 4
ot % T 3= quEear arer RaT FEwA s e

Question ID : 162653352

Q.16 40 ot Hr v Fam F, Rameft drow & cofFawra TufFmaet & e ¢ s R F &7 F
FrHeT e Fiar?

e K frers fordfrg Rretor

W 2
e vor & Rreur-drae & aier F 93T

X 3 FE TETOT T AT
X4 gt & forT T oag & e

Question ID : 162653353

WV ftrg B caraRE orET ¥ g8T 4T ATET B2

Ans «‘1
HegTe & A9 GEAR &l SO9eh TIET § HASaT

Question ID : 162653364




X 2. o
A3 FHamariora
X 4 At

VP s dre @ S Fhe B Mg s
e XK arufEes wamat & ohar ¥
X 2 gruffe T W TFaT &

X 3. giadgs o % eaia @

v 2
FAreaf@e 3R aRss AAAF WoT TF FaT §

Question ID : 162653361

Q1 Cyare B #7 seERor SEeRT F ¥ #iF @ §

Ans ‘!V1_
TAT Fr gfvemyr $r surEmT, TAT F 3EEI0T & HiT "5 Fr Sevar
X2
AT 9T AT &7 9IS 3T IS8T &

p k!

HeT W Hetod fafdes =ie fewmen 3t onl ® g @ afenr dan e & forw sgar

K 4

T T 3807 &1 AT Fa7 & afvsmer v Ty T4 & 3g@or &

Question ID : 162653356

Q20 What is the correct sequence of basic skills of language?

Ans 1. Listening, Speaking, Writing and Reading
/< 2. Writing, Reading, Speaking and Listening
« 3 Listening, Speaking, Reading and Writing
X 4

Comprehending, Listening, Speaking, Writing and Reading

Question ID : 162653355

Section : Subject Related

O Sl F ¥ #F o sroe afafafter ¥
e X RER, e g 3 #od geee

X 2 3TEe roTaTH B
X 3
oS Few, S orlife gfderor s IEr a8

v o grsfereT, efheT, SEr 3R @A

Question ID : 162653380

Q2 e H Ales BT e fBEa W omia g7

Question ID : 162653379




Ans XK1 Siaer wlerer fre
X 2 HffegFa & grg @@
v F FE 9rEer
<4 yfreafea # e

Q.3 == ¥ T W a3 e $ g qwee i fen & O 3R s @ v ader
l Question ID : 162653371

e X arpfae areama
X 2 qtERoT IeTTa
v 5 g3fa e
X 4 gpia meriia femor

Q.4 Re= & @ S AT TAS F TEE HR FEwat @ Feg § 3R @A F werd & w9 &
wofFaE ¥ TREIRE wE F T Fr ¥ 5% R w9 # S Swer ¥ Question ID : 162653374

e o graTfers o
<2 dMEw gaTSIITES
X grafas wegas
X4 AERE e

Q.5
THET FeraA R & v gew s9gE wEita &= §? Question ID : 162653372

Ans x 1.
g, SUTEOTS, TIETATeT S T wer 3t e
K2
a7 2l (Fres Bfe), Far ik Rew, srgfawor 3k sarea=
X 3

e U5 70 (e iR @), 9w, stewae (OfE) sl senmen & e

v

=g TAF I, g (S ), s amwe (amsesk wede) it wedeh

6 :
W SR & O sEEs B # SeRer 4 Question ID : 162653368

Ans XL
HI0T & 3erexvr fe@rar AR Fror Fr afemT goar
K2
FOT F TIE F TG, FOT F 3E0T &7 AT B For F TEw # gEeen
X 3
FIoT FT R goar H#R FT & SEeIer amer
o 2

HUT & FeHEE e, F7 F TR # aanr ok R P F 53R seeer o

7 : :
Q7 What is meant by pedagogy of mathematics? Question ID : 162653367

Ans "1 Science of teaching mathematics




/< 2. Content of teaching mathematics
/< 3. Art of teaching mathematics
X 4

Teaching mathematics to under-graduate students

Q.8

Ans

How can we develop psychomotor skills among students?
V' 1. Art and craft activities
< 2. Writing an essay
/< 3. Solving maths puzzles

#< 4. Solving crossword

Question ID : 162653378

Q.9

Ans

TERT TETHA BIEAT 2005 & AR TR B 9@ % 587 w4 §7

V' of@er & gy gE8eT T
X2
TAEOTeHF HE & T A Sl JeT e

X3
FATSF TIEW & TN F 7=9 W g o7 F B gaaens ama i gunee-aesrar g
SITAT

X 4

3acehed 3T 3ST8T0T T 3T §F 9 iad &#3ar

Question ID : 162653369

Q.10

Ans

Trfoae # @ Fi9 @1 T e TR = F 9RorEl F el 7 790 s9gE 2

X 1. BrEr # g F HET 954 B

X2

OIEr 1 FHT afaffEar & 3996 9ar 2ar 2
¥ &}

T YedF OF UF GEL F w0E A § it iRt & saur ge & seeited g
X4.
aﬁmmﬁﬁgmﬁagﬂésﬁﬂm%“l

Question ID : 162653382

Q.11

Ans

RT3 99 @ Fua g 2
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e A 39 gEies F7 % S 6T #9851 2
K2

wrATS e v avg & 9 & dE # ewas & g
X 3

WA A Agsal ¥ 379 SO0 % WY HEY g
F

gATaF e 7= oot & seoae & g5 2

Question ID : 162653375

Q.12

Ans

fasurea Far FU oEr T #gg T 272

Question ID : 162653377
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g R § & 79 W 9T F F:1
X 2 gg TET F 3F g g

¥ &}

T =T HiEeuEa, =eeHwar i o F a9 shre $r o fSefaa w1 §

X 4 Jg TET T RET FFeT T B

Q.13 =T @R wifs BT F TorEn # T, A @R mEew F ey FeRet fr smuronst
F w9 & afde Fer afge?

o arufRE T d areerE R
X 2 e @ e
X 3 del gfadde TR W
<4 omiifes aifafafimr

Question ID : 162653386

Q.14 erfors FAAE qET ¥ ¥ fFoF WAFT IR F1 FAFA § T 87
Ans X1 TR

< 2 et

v B

K 4 FHITT

Question ID : 162653384

Q.15 orfifts wameeT & AT ¥ #iT O aHant #r Bfw B s afiee
e X OATATHF AT H AT
v

T T SR, AT &THAT F w3 A AR F ae o seqged e J wa g
X 3 FANSE eTHaT
X 4 TcH T8 &THqT

Question ID : 162653381

Q.16 T3 (NPE) & Hamfae wzieror B=ier &1 Rl & 3fdesr 377 & &9 F anffier ot a1 J=7 FRor
Fam §7

Ans ?{’1
STET & T TITEI0T & T H FAEF hlaAT
X2
STl F @O {E % G A SAASNT el
X 3
gfesy & gueRviy @a & T oE S ST

v 2
STl HT JATEI0T FT FIAT AR E@0T F Fed FarT

Question ID : 162653370

Q.17 = = & vgfa 3aaa o= & v few Rl g@w vae e e aor defte sse § =1
enfaer g =nfgw?

Ans ?{’L

Question ID : 162653373




X 2
2T (33¢sN) W, Ter R ik &y g
X 3
&7 ehr (Fres few), diemfrr-smnia Raor Ak d=r dgar
v
T WGAT, WHEMOF TS A Fura-3memiya fRrer

Q.18 w=fos fem= Rerr-seams Rl #rot § & s B Jgeagr =4 87
Ans ?{’L
FrATTS U 3T FAREAHAT T TAEA
X2
TS U W, vEtta i@k ofaa &, 3 e
K 3
AT & UF Figw, SFEAer I faaete gesm g9
v
TATEIOT, FETUAT HIT T 9T vy wer

Question ID : 162653376

O =2 Hre 9 FT #gaT 14w AT

e X1 T v Sver HfRfRTe ar

.{2_
FAoT § fear R dwor Rew & P smur o sa Fer

X 3 BT ST H3C FT FHH FT
< 4 orEr S FEEeET

Question ID : 162653385

20 mepsdt & A AR AR AEITSERO F4 @ €7
e XK gmae F S

v 2 EReiRETT & ERA

X 3 FTTFRAT F S

Ko fordr fe & @ A A

Question ID : 162653383

Q1 yErras P T F F9 ST § ¥ o § e

Ans ?{’1
Ar-Rrar # aelierd & Rffe gt # Aowfea =& F

X 2 Tpe Afaal W RAY & F|
v o IETHA # WUYS F GHE & F

Question ID : 162653400




X 4
TR 3ATES ¥ FEfoT fwE W o s w1 F

Q.2

Ans

T T & 99w @ AR B e sl alel @ s sgadr afdent % e A Aeg W Fed
g, e

A BRI JEE A &
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K3 darlos T e = F
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Question ID : 162653406

Q.3

Ans

U RUeF & T F AT T 7 FE afenig A7
X1 AfTE =S

< 2 graATTee ST

v o e Tge]

X 4 SRS 0Tl

Question ID : 162653387

Q.4

Ans

f=fafaa & ¥ wsh e werea & v Tt $r Seaefe § e
v o
HeH Terre & fow facda o glaRaa &= &)

X2
=T HEEAT F WY IR, WAL AT Hg-H=Ted i &

X 3 Tper sTHEE # AT A &

X 4
FHAAET, HAE I e AT H HIT ol |

Question ID : 162653403

Q.5

Ans

S ¥ P W WHE Hsel Afafaey a8 37
X IUTF WERET FEHA

A2 TaTrem FEEH

<3 srEaret 3R At F wEEeEr

v 4 JeTfOTER HAOT

Question ID : 162653395

Q.6

Ans

Thel # WA FRF F 8?

A1 BrET & TR
«2.
a9, IEETeaT AN @E e

X 3 TP IE
X 4 fRreteRt T TEAT

Question ID : 162653391
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Question ID : 162653405

Q8 fnre & BT Ya=raw hnTor e e fEerss T =mar 27

e XK. fRrem #r sedT IR ¥ B
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99raT Fiere, AT HAR I F 37707 F [
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X 4
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Question ID : 162653399

Q.9 wufaw Rem=t & geu 79 & FF @ WeacAs voua # AeEE = & 35 B A §

Ans “f 1
ol % A=A, sifaw AR el FEuEr &1 gEuT w6

X 2 AT % |y J§9E #:1F)
X 3 s TAT @F|
XK 4 RreTor WETTar RefT wF

Question ID : 162653402

Q_‘I (0 Which of the following is an important characteristic commonly found in effective school administrators at the primary
level?

Ans

#< 1. Mastery over subject knowledge
« 2. Leadership and management

# 3. Effective communication
< 4 Interpersonal relationship

Question ID : 162653404

U FamEwis she fEw aRRRa e R Bwea & s 2
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Question ID : 162653397
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Question ID : 162653396

Ans o 1. 3CUIGER &THAT
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Question ID : 162653389
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Question ID : 162653393

Ans ‘!f1_
3¢ 3 ¥ gl HIST #T FT (taste) FIFI
X2
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X 3 3¢ TET AT 98T FF|
X 4
Tpol AT H 3eg HIeld 39 Agl HUDL
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Question ID : 162653392

K ST @ e
X 2 HeNUT
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Question ID : 162653394
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X 4 ST B HUAT H FIT FaT FgT 2|

Q7 rmfafee & & FiF & g e F @ s Question ID : 162653398

Ans K1'
TR Fterer, fEretor it ws Fr gfesar 1 F7=
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X 3
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Q18 el omiier T T H #r anfEeT g7 Question ID : 162653390

Ans (1,

gt @, s, et AR e widh & sty Bw ane | e wo fRuw & v s
& FTAROT 74, T AT

X2
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A Question ID : 162653388
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FI TF F TER| 3 FRO H TFTH Question ID : 162653401
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